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#include <stdio.h>



#define K 1

int main(){
double t; /¥ 0000 */
double x,xa; /* xO0O00 x000xaO0O0OO00ODOOvOO %/
double v,va; /x vOOOO vOOOvaOOOOODOOOvOO %/
double xc,vc; /x x,v OOQOO0OOGQOO0OO %/

double dt; /x 00000 =/

dt=0.05; /* 000000 0.056 000 =/
x=1.0; /¥ 0000000000000 =/
v=0.0; /x D0000ooooooog =/

for(t=0.0; t<10; t=t+dt){ /* 0000 10000 dt ODOOO0O =/
printf ("% %f\n",t,x); 0/« 00 O0OOOOOO OOO =*/

xc=x+v*dt/2; /* 000000000000 =/

ve=v-K*x*dt/2;

xa=x+vcxdt; / 0000000000000000000x*/

va=v-K*xc*dt;

x=xa; /000000000000000O0Ox*/
v=va;

}

return O;

}
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